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Note: Try to answer these questions after you study the subject

1. Which muscle /muscles abduct the shoulder up to 90° ?
a.Infraspinatous

B.Deltoid and supraspinatus*

c.Deltoid

d.Trapezius

E.Deltoid and infraspinatus

2. All the following are from the posterior wall of Axilla Except:
a. Scapula

b.subscapularis

c.Teres major

D.Latissimus dorsi

e.Teres minor *

3.Which of the following means above stomach:
a. hypogastric

b. antigastric

C. epigastric *

d. gastritis

e. gastectomy

4.Which of the following is wrong about ulnar nerve:

a. Originates from medial cord

b.doesn’t supply the anterior compartment of the upper arm
c. passes anteriorly to the medial epicondyle of humerus *

d. supplies one and half muscles of the forearm

e. passes lateral to pisiform

5.The plane that divide the body into anterior and posterior parts is :
a. midsagital

b. sagital

c. horizontal

d. coronal *

6.Which one wrong about bones’ shape :



a. Scapula-flat bone

b. Femur — long bone

c. Vertebra — sesamoid bone *
d. Wrist — Short bone

7.1f you want to say near the trunk you say :

a. anterior

b. proximal *

C. posterior

d.superior

8. Which of the following wrong about median nerve :

a. Supplies all the anterior compartment of forearm except one & half muscles
b. It is above Palmaris longus *

c. It supplies thenar muscles and half the lumbrical muscles

. A common site of Implantation :
. anterior wall of uterine cavity

. Fundus of uterus

. Posterior wall of uterine cavity *
. Ovary
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. Uterine tube

10. A common site of fertilization :
a. Cervical canal

b. Ampulla *

c. Isthmus

d. uterine cavity

11. Which of the following secretes fructose fluid :
a. prostate

b. vas deference

c.epididymes

d. Seminal vesicle *

e. Testis

12. Which of the following is wrong about oogenesis :



a. oogonia is formed by the end of the 5" week
b.oogonia reach the maximum number by the 7" M
c. Near birth 1ry oocytes enter diplotene stage and remain until menopause *

13. The step in Meiosis that gives the genetically different cells :
a. Duplication of chromosomes

b. In Metaphase [] chromosomes aligned at equator

c. Reshuffling and crossing over the chromosomes *

14. Which of the following is wrong:

a. Utrine tube about 4 inch long

b. External Os is transverse nullipara woman *

c. The normal position of the uterus is enteverted

15. Which of the following is wrong about prostate:

a. It is below urinary bladder

b. pyramidal in shape

c. It secretes acidic fluid to neutralize vaginal secretion *
d. Formed of lobes

16. All these muscles are inserted into tibia except:
a. Sartorius

b. Rectus femoris

c. Rectus lateralis

d. Pectineus *

e. Vastus medialis

17. Which of the following is wrong about femoral triangle:

a. It’s lateral border is Sartorius

b. Roof: skin, superficial fascia, great saphenous opening, deep fascia
c. Floor: psoas, iliacus, pectineus, adductor brevis *

d. Contents: Femoral artery, nerve, vein, lymph nodes

18. Which is wrong about spinal cord:



a. Itis divided into 31 segments

b. White matter is full of axons

c. Ventral root is motor

d. Spinal nerve is formed of motor fibers *

19. Which of the following is wrong about adductors:
a. All adduct the hip

b. Supplied by obturator artery and profunda femoris
c. All cross one joint except 2 muscles *

20. Which of the following is wrong about the spinal cord:
a. Located inside the vertebral column

b. Extending from the base of the skull

c. It ends at L3/L4 vertebral desk *

d. It has 2 enlargements

21. Which statement is wrong about hand:

a. Lumber muscles for writing position

b. Superficial palmar arch is mainly contributed by ulnar artery
c.Deep palmar arch is mainly contributed by ulnar artery *

d. Medial nerve and ulnar nerve supply it

22. Which of the following is supplied by 2 nerves:
a. Adductor longus

b. Adductor magnus *

c. Pectineus

d. Adductor brevis

23. Which statement is wrong about femoral nerve:
a. passes beneath the middle third of Inginal ligament
b. Originates from anterior division of L2,L3,L4 *
c.enters femoral triangle where it divides

24. Which of the following is mismatched :

a. Medial cubital vein — rarely used to obtain blood *

b. Brachial artery — starts at lower border of teres major
c. Siatic nerve —is the largest nerve in human
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